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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions:

;B

This question paper consists of 3 questions. Answer all questions

Clearly show all the cale
An approved calculaf and non-graphical) may be used, unless stated
otherwise.
Number the answers aéjr o the nmﬁbering system used in this question paper
It is in your own interest to write legibly and to present the work neatly.

If necessary, answers should be rounded off to TWO decimal places, unless stated otherwise

Diagrams are not drawn according to scale.
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QUESTION 1
1.1 Indicate between which two consecutive integers 47 lie
1.2 Write 0,13 as a fraction, clearly show all your steps.
1.3 Factorise the following expressioris fully.
(34 2]
132 25x* -4
133 125x
134 3x-6xy-2)
1.4 Simplify fully:

L41  (2x-5)(x* -2x+3)
14.2 xz s

x+1
143 350 7500 550

42
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QUESTION 2

2.2

2.2

23

2.4

Solve for x in each of the following equation:
2.1 x(5-x)=0
2.1.2 8
x R
X

Solve the follow1

N —15<1-4x<5 and xe R

232 Represent your answer above on a number line.

Solve for x and y simultaneously:

x+3y=12
2x+y=9
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QUESTION 3

3.1 In APRQ, OR=4cm, PR =5cm and QP =3cm. PQ is perpendicular to

QRandP=0. PRO=a

=

311 sind (1)
312  seca 3)
3.1.3 tan@ (1)
3.2 (Calculate the size of @ (&)
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N
QUESTION 1
L1 | 36 <47 < /49 v 36 < /47 < /49 o
6 < ,\/ﬁ <17 v answer
Between 6 and 7
1.2 JLetx=0,131313:s v 100x =13,1313... (3)

100x =13,1313 .

v 100x—x=13,1313-0,1313

100x —x =13,1317 v answer
99x =13
=13
99
1.3.1 | x¥2=3x-10 v factors (2)
(x+2)(x-5)
1.3.2| 25x* —4y* v (5x*) = (2y*) (2)
=(5x%) = (2)*) v factors
=(5x7 —2y")(5x7 +2y%)
133 | 1252407 v'v factors (2)
=(5x)" +3°
= (5x+3)(25x> —=15x+9)
1.3.4 | 3x—6xy -2y +ly v 3x(1-2y) (3)
(= v =2y +1)
v answer
14.1 v simplification (2)
2t 10x—15 viansvier
=2x" -9x* +16x-15
142 x2_x—2 _(x=2)x+1) v factors )
x+1 x+1 v answer

=x—2
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NSC
143 3560_ F00 952 3500 4500 o502 v (2.3_7)500
= 4
42%° @r.2)" V250 350 750 @
g 420 v psesm
= 3500 7500 ~500
S v answer
[20]
QUESTION 2
2.1.1 | x(5-x)=0 v v answer (2)
=0 or x=5
2.1.2 8 v standard form
il &)
X ¥'three factors
x*=2x=8 v answer
x’—2x-8=0
(x—4)(x+2)=0
x=4o0r x=-2
213 | x* =27x o g? =20
3 3 3 (3)
x =27 s ¥ =3
=3 vanswer
x=3
22 | 4°-32"-18 2" -3.2-18 i (4)
2P #3)(2"—6) ; v answer
2" +3
=27 -6"
23.1| —-15<1-4x<5 v —16<-4x<4
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—-16<-4x<4 v"end points 3)
4>x>-1 v'notation
-1<x<4
232 v'v" answer (2)
< © © >
-1 4
24 x4 3y =12 ¥'equation 3

2x+y=9 v'substitution

R=12—39" von v simplification
Substitute (3) into v'x-value
2(12-3y)+y=9 v'y-value (5)

24-6y+y=9,

—5y=-15
y=3
Subst. y =3 into(3)
x=12-3(3)
x=3
122]
QUESTION 3

dem
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N
3.1.1 | siné v'answer (D
_OR
PR
NA
5
seca
3.1.2 " — (3)
_ 1 cosa
c&l)sa v substitution
= @ v' answer
PR
_1
T4
5
_3
4
3.1.3 | tan@ v answer
_OR (1)
= oF
_4
3
322 v'correct ratio (3)
v o
sind = @ substitution
PR v answer
sinf =—
4
6 =sin ' (=
( 5}
&=25313"
[8]
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